2014-2015 6TH GRADE CONTEST SOLUTIONS

Answers

26.

Subtract by a large multiple of 8 to quickly count
down by 8s to be near choices given: 777 - 640 = 137.
Subtract 8 again: 137 - 8 =129.

A) 123 B)125 C) 127 D) 129

27.

Five apples cost 5 x 15¢ more than 5 pears, so 1 pear
costs 75¢. The cost of 5 apples and 6 pears = the cost

of 12 pears, so the cost is 12 X 75¢ = $9.
A) $3 B) $6 C) $9 D) $18

28.

The desired difference is (1 X 3 X 9 x 27)-27 =
(27 x 27) - (1 x27) = (27 - 1) x 27 =26 X 27.

A) 2 B) 27 C) 2x27 D) 26x27

26.

D

27.
C

28.

29.

Since 26 < 100 < 27, the prime factorization of a whole number less than
100 is the product of at most 6 primes.

A) 3 B) 4 Q) 5 D) 6

29.

the entire figure is 8 by 9. The area of the entire figure is then
8 x 9 = 72. No greater area is possible.

A) 24 B) 64 C) 72 D) 8i

If the shaded rectanile is 8 by 1, then the square is 8 by 8 and :.

30.

31.

The 1st letter Gabriel wrote was G, and every 7th letter after was G.
The 99th letter he wrote was G, and the 100th was an “a.”

A) a B) b Q) r D) i

31.

32.

At the end of year 1, [ had $110. At the end of year 2, I had $121. At the
end of year 3, ] had $133.10. At the end of year 4, I had $146.41. At the
end of year 5, L had (to the nearest dollar) $161.

A) $162 B) $161 C) $160 D) $150

32.

33.

1200 kg + 4 = 300 kg is sunflower seed.
If sunflower seed comes in 12-kg bags, she
needs 300 + 12 = 25 such bags.

A) 25 B) 34 C) 50 D) 67

34.

The product of 100 100s is 100'%, This is the
same as 100%? x 100! or the sum of 100%° 100s.

A) 1001 B) 100 C) 100 D) 1002

35.

521 x 411+ 9 = 521 x 222+ 21 = 521 x 221 = (5 x 2)2! = 102,
A) 1011 'B) 10% C) 102 D) 108

35.
B

The end of the contest (24} 6
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Contest Information

Solutions Turn the page for detailed contest solutions (written in the

ques.tion boxes) and letter answers (written in the Answer Column to
the right of each question).

fcore's Please remember that this is a contest, and not a test—there is no
pe:,ssmg or “failing” score. Few students score as high as 28 points
(80% correct); students with half that, 14 points, deserve commendation!

Answers un‘d Rating Scales Turn to page 151 for the letter answers
to each question and the rating scale for this contest.
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